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PSSA, Grade 5  
Math 

Leon's Candy Bar Sales 

Handscoring 

Practice Set 2* 
*Responses in this set do not have true scores. Apply scores based on

scoring criteria. 
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.. 

25. Continued. Please refer-to the previous page for task explanation.

C. .Explain why it is not possible for any:of' the points on the graph to have a.
y-coordinate of 77 ,:

. Last year, Leon .rais�d � .total qf $2�0 fro_rri �is. �11dY b�r s�les. ThJ� year, �!s goal is 
.. to raise at least 2.5 t1mes·that amq_ynt,. • 

D. What is the fewest candy bars Leon needs to sell to reach his goal for this
year? Sho� or explain all your work..

a 46 x a ,5 �ooor·

$GOO� G00/3=-dOO 
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25, Leon is selling candy bars for a school fundraiser. He raises $3.00 for each candy bar 
he sells. The graph shown below represents the total amount of money, in dollars, 
Leon has raised based on the number of candy bars he has sold. 

The pattern continues. 

Leon's Candy Bar Sales 
y 
,., 

�20 ..... -.-................ ...,..,,.........,...,,,.. 
:;; 1a--------t 
I 16-------t 
� 14 ...,·_,,,,....,.,,,....,t--t--1-+-,-,,,t-t 
it' 121--t!-t--t--.."!"'f--t-,,-t 
S 101-.. .-t. ______ __, 

2 8 l--lf--+-f---f-,' -f-1 -t--1 

0 6 �i-,,-,e...-+--,...t-...-+-,,,,....,.!!!'1 

1: ::, 4 ...... -4. -------t 

0 it-l'.......+--+--t--,-t--t-,-.f 
� 

1 2 3 4 5 6 7: X 0 

Number of 
Candy Bars �old 

A. Which axis represents the number of candy bars sold?

the. X �:,s. 

· B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars. 

( 4 
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.. 

25. Continued. Please r�fer to the previous page for task explanation.

: ��a��.year; Le_qp_ li:l!se_d a.tot�! of-_$240 from his.�ndy ��r sal�s. This.�e�r; his Q981 is·
to raise at least 2.5 times that amount.. · 

. 
' ' 

D. W�at is the fewest candy bars Leon needs to sell to reach his goal for this
year? Show or explain �II your work .•.

·\ <ASk Ye(A( +o�-rk' .. --- . �Qo -- .. ·-· . 
-+� \S Yeof +o�tl

- i°Cc,o 
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Leon Is selling candy bars for a school fundralser. He raises $3.00 fot each candy bar he sells. The graph shown below represents the total 
amount of money, In dollars, Leon has raised based on the number of candy bars he has sold. 

The pattern continues. 

Leon's Candy Bar Sales 
y 

�20 ..... ·���­
-181--11--+-+-
116 
J 14 
jt, 121--··'"'+"""·+-"•"l"""" 

I 1 o 1--1-+-+--.-+-+-i 
:& a------

'S 6 
) 4 t---t--!--t---t--t--t--1 

J
2 

0 12345 
Number of 

Candy Bars Sold 

A. Which axis represents the number of candy bars sold?

X 

B. Write the ordered pair that represents the amount of money Leon raises for selling 6 candy bars.

C. Explain why It is not.possible for any of the points on the graph to have a
y-eoordlnate of 77. 

I771s not a multiple of 3 
25/1000 

Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal Is to raise at least 2.5 times that amount. 

D. What is the fewest candy bars Leon needs to sell to reach his goal for this year? Show or explain all your work.
I 

!200 candy bars. First I muitlplied 240 times 2,5 to get 600 which is his goat 1 
!Then I did 600 divided by 3 and QO!.!!t�!:.!�r of 200 candy bars. !143/1000 
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Leon is selling candy bars for a school ftmdralser. He raises $3.00 for each candy bar he sells, The graph shown below represents the total
amount of money, in dollars, Lecm has ral.sed based on the number of candy bars he has sold. 

The pattern continues. 

Leon's Candy Bar Sales 
y 

8 ��.,..,,_,-1,---h­

) �: ,,_. --

t, 12
I 1 o ._,l-i-+-+-+-+--1
:& 81--<1---1--+--+-4--1--1
'ti 6 ···-· "'" "'""'i--11-+--t---t 

1 4 

1 2 
0 1234567

x 

Number of 
Candy Bar& Sold 

A. Which axis represents the number of candy bars sold?

lTheXa)ds.

8. Write the ordered pair thatrepresents the amount of money Loon raises for selfing 6 candy bars.

D 
r· I 

) 

C. Explain why it Is not possible. for any of the points on the graph to have a
y..coordinate of 77. 

!Because 771s not could not be one of the numbers In the pattern because 
iwe are co1.mtins,1 by two so we can only have even numbers in the pattern.
144/1000 

Last year, Leon raised a total of $240 from his candy bar sales, This year, his goal Is to raise at least 2.5 times that amount 

D. What is the fewest candy bars Leon needs to sen to reach his goal for this year? Show or explain an your work,

He can rais that amount of money In 47 weeks. I got my answer by $240 
times 2.5 and got 600 and then I did 4 times 12 and 48. Then 600 dMeded 
by 48 weeks and got 12.5 and saw that In my pattern that was one week off 
and my pauem was 12.5 so I subtracted .5 off of the 12 and took the weeks 
down to 47 soi got 47 as my answer for how many weeks It will take him to
rals 2.5 times as much money as he raised last year 
420/lOOO 

P2-6



PSSA Math: Leon's Candy Bar Sales (Grade 5); Practice Set 2 P2-7





PSSA Math: Leon's Candy Bar Sales (Grade 5); Practice Set 2 

Leon Is selling candy bars for a school fUndralser. He raises $3.00 for each candy barhe sells. The graph shown below represents the total 
amount of money, in dollars; Loon has raised based on the number of candy bars he has sold. 

The pattern continues. 

Leon's Candy Bar Sales 
y 

ti' 20,__,�-���� 
..... 18 l--+--t--1· 

! 16 M-
� 14 , ....... ,11, .. , .... ,J,, ............ ,,+,,, ... ,f ......... j .... , ... 4 

t, 12 
; 1 o 1--11--1-+-l-.....--l--l 

:Iii 8 i---<>-->-,.-+---+--+--< 

'a 6 
I 4 

i 2 .. 
1234567 x 

Number of 
Candy Bars Sold 

A. Which axis represents the number of candy bars sold?

!xaxis I
�---·· 

B. Write the ordered pair that represents the amount.ofmooey Leon raises for semng 6 candy bars.

D 
r· I 

) 

C. Explain why It ls not possible for any of the points on the graph to have a
y..coordlnate of 77.

lrn� not a multipul of 3 
25/1000 

Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal ls to raise at least 2.5 times that amount. 

D. What Is the fewest candy bars Leon needs to sell to reach his goal for this year? Show or explain au your work.

!4o more candy bars
18/tOOO 
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25. Leon is selling candy bars for a school fundraiser: He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money, in dollars,
Leon has raised based on the number of candy bars he has sold.

The pattern continues. 

Leon's Candy Bar Sales 
y 
-�

e �� 
$ 16 
� 14
� 12
5 10 
:!5 8 
0 6 
§ 4
� 2

0 

; 

' 
,,1234567

x 

Number of 
Candy Bars Sold 

A. Which axis represents the number of candy bprs sold?
\\.'\t t,)(\�·\v..�-"' t1. ... �t.\..�\._,[\\� -\'\N..._ (JJ•-f'O':) '°""<:'o 4:>o\b �'-:,,

(_t)..\\J...,� \'if'\.. '>{ (J,-.)(\'? \ 'v-JV\"L"' '-� �\r.\.. -\oo�ON" u,...'l.t.'.'-J 

I 
•-, 

' 

B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.

< <.o ,  'Vo) 

... 

P2-9

csloan
Text Box

csloan
Text Box

csloan
Text Box

csloan
Text Box

csloan
Text Box

csloan
Pencil



PSSA Math: Leon's Candy Bar Sales (Grade 5); Practice Set 2 
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25. Continued. Please refer to the previous page for task explanation.

C. Explain why it is not possible for any of the points on the graph to have a
y"coordinate of 77.

\¾ \'":> (\l?"" �O'?':)\\o\..\.., � o<' O,...<'\� 0� -'('AL �(>\ \\½, .\;o \!'·l/\\J_.,_ 

0-... �- too<c,i'\o-..�-t- 0� i4 \o<...le,,..\)C,{. ,(J"-'°' (&\.f'\O'O \D�, I')

,�,()0. iov l�<'"c.\ l \J-t..i't\V) ¢\-J\�..\. 1:J· \otj "'¾ ,�\t\�({�O-- · 
, o... �o (..OJ\ oV) 'Ov--< l°'" Jv M � \o� ,.;;?, � o "'rl· , 

Last year; Leon raised a total of $240 from his candy bar sales. This year, his goal is 
to raise at least 2.5 times that amount. 

D. What is the fewest candy bars Leon needs to sell to reach his goal for this
year? Show or explain all your work.
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25. Leon is selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money, in dollars,
Leon has raised based on the number of candy bars he has sold.

The pattern continues. 

Leon's Candy Bar Sales 
y 
A. 

0 
20 

-1a
"0 

� 16 
� 14 
� 12 
5 10 
:!5 8 

'o 6
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j 2

" 

I 

,r 

1234567
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Number of 
Candy Bars Sold 

A. Which axis represents the number of candy bar� sold?

"" J 

B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.

.. 

P2-10

csloan
Text Box

csloan
Text Box

csloan
Text Box

csloan
Text Box

csloan
Text Box

csloan
Pencil

csloan
Pencil



PSSA Math: Leon's Candy Bar Sales (Grade 5); Practice Set 2 

.. 

25. Continued. Please refer to the previous page for task explanation. 

C. Explain why it is not possible for any of the points on the graph to have a
y"coordinate of 77.

CC\ V\?E' teo" �1M·h;1 90Wf\q sell €'.\,, o"

-"� 0\\

Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is 
to raise at least 2.5 times that amount. 

D. What is the fewest candy bars Leon needs to sell to reach his goal for this
yea_r? �ho�_o_r 

expl�!�-,�-' y�w�work. 2... � 0 l q �ff y O 4 -t-itnr,
· • ·:· c- 1-,p i.t, -:,;> "" 1. ·S by 2 't-O ttnd. 9 c-r � oo

+t�ln dtyide s.oo ctnd
9t+ 1..60
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Subject: Math 

PRACTICE SET 2* Item: 

Leon's Candy Bar Sales Grade:5 

Name _____________________________ _ 

Number Score Consensus Notes 

P2-1

P2-2

P2-3 

P2-4

P2-5

P2-6

P2-7

P2-8

P2-9

P2-10

* Responses in this set do not have true scores. Apply scores based on scoring criteria.
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